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Topic:- General Knowledge

1) Who among the following was the captain of 2017-18 Ranji Trophy’ Madhya Pradesh cricket team? /

fFrafaf@a & & $19 <2017-18 0TS STE Teg weRT fbdre W & @ A2
1. Devendra Bundela / ﬁﬁ?z @T‘ﬂ

2. Avesh Khan / 3991 @M

3. Harpreet Singh / B Rig

4. Ankit Sharma / 3fford <l

Correct Answer :-

o Devendra Bundela / éé’;z §36II

2) Who among the following has been honoured with the ‘Life Time Achievement Award’ by the Badminton
Association of India in 2017? /

fFrafafea # A f5d 2017 # Ssfica THIRERE 3w Sfeur gR1 @swersd sEiade sais’ | IwT=d farar
T UT?

1. K. Srikanth / 3. #iepid

2. U. Vimal Kumar / Y. faoa PHR
3. Prakash Padukone / YRR trrg'ﬁw
4. Pullela Gopichand / W e

Correct Answer :-

« Prakash Padukone / JebTRI UTGaHIUT

3) ‘Rashtriya Devi Ahilya Samman’ of Madhya Pradesh Government is given to women who excel in the field

of i
;g?mwnm'w@uﬁeﬁwwwﬁmaﬁﬁﬁmm%ﬁ FETH IS
|

1. Tribal and folk arts / SIS @TW Haait
2. Education / 1T

3. Social service / JHTS T

4. Theatre / QQEQ

Correct Answer :-

« Tribal and folk arts / ST 3R Wl BHelraif
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4) ‘Maharashtra Mission 1 Million’ initiative pertains to which of the following sports? /
HERTY fore 1 it veer Fafofea & 4 fra @w 3 wala 32
1. Hockey / Bﬁ

2. Football / eaid
3. Badminton / a@’;ﬁlﬁ

4. Cricket / fohdpe
Correct Answer :-

« Football / eaid

5) When did Madhya Pradesh in its present form come into existence? /
Y UG 30 Ia9 WU | $a T # smar?

1. 18 November 2000 / 1 FGFR 2000

2. 18* November 1956 / 1 TdFIR 1956

3. 15™ August 1947 / 15 3T 1947

4.26™ January 1950 / 26 SIHART 1950

Correct Answer :-

« 13! November 2000 / 1 Td&R 2000

6) The objective of Global Skills Park, established in Bhopal, is to provide: /
WaTel & RITA Teilaed [&pedt UTdh &1 35,94, TS Ya BT e:

1. Global marketing for produces / SIG & 1%112 A AT

2. Training in precision engineering / tlﬁﬂ?x_cﬂ Eﬁﬂﬁ'qﬁ"'[ T TifRrefor

3. Training in creating parks / T §14 | TfRremn

4. Support to school dropouts / ¥ ¢l Eﬂ?:ef e g BT gHYA

Correct Answer :-

« Training in precision engineering / Cll?? <l SelifaRT T yifRreror

7) ML.J. Akbar, a Rajya Sabha MP from Madhya Pradesh, is a Minister of State in the Union Council of Ministers
in which one of the following ministries? /

YRR F ISTAUT WiAe A9, e, Frafufa vamea # & fea S afiufvue o weg ot &
1. External Affairs / fac=it ATeed

2. Finance / fa

3. Defence / &[T

4. Railways / Xdd
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Correct Answer :-

« External Affairs / ééa HHA

8) Which one of the following banks is the convenor of State Level Bankers’ Committee in Madhya Pradesh? /
Frafafed # & 919 91 9o 7w Uew § Iy T Sl o afifa o1 9aee 82

1. Union Bank of India / {ﬁl’q:f % it gfgar

2. Syndicate Bank / Rifs®e do

3. Central Bank of India / ¥ 3@ 3Tt gfgar

4. Bank of India / S 3t Sfga

Correct Answer :-

« Central Bank of India / @Eﬁ S 3 gfsar

) CANCELLED

Which of the following are the earliest examples of Rock Cut architecture in Ancient India? /
frafafad # d S19 a1 Ui 4Rd # e $e anfbear ST Tad YHarTd I 22
1. Barabar caves/ SRTSX 11551'\@

2. Elephanta caves/ Qﬁ“lﬁ‘?[ Wﬁ

3. Kanheri caves/ g3l -ﬁq’—'ﬁ

4. Ajanta caves/ 3fSidl "I‘mﬁ

Correct Answer :-

« Barabar caves/ IRT&X ﬂtb—lﬁ

19) CANCELLED

Bharat Bhavan, located in Bhopal, is a meeting ground for ./
HiaTer & fRUT URd W, & forg oo farem yfar gl

1. artists / PATDRI

2. Politicians / TSTATSAT

3. Sportspersons / @?‘IT%@[

4. civil servants / Rfad Jaa!

Correct Answer :-

. artists / HATBRI

11) CANCELLED
Dr. Harisingh Gour University in Madhya Pradesh was formerly known as: /

Aayew § si° g MR fayfeney &) vgd 59 918 | SH1 S o
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1. Jiwaji University / Sitarei fayfaemea

2. Jabalpur Engineering College / SIS¢TYR ESIER UGN
3. University of Saugor / 9TR fasyfaemed

4, Vikram University / famH %’dﬁw

Correct Answer :-

« University of Saugor / IR fayfaemeaa

12) CANCELLED

Who authored the story of ‘Pather Panchali’, the famous movie directed by Satyajit Ray? /
Heitd ¥ gRT AR ufis frew udR uiamel & $eHIeR o1 A2

1. Bibhutibhushan Bandopadhyay / fSfas0T siiareama

2. Saratchandra Chatterjee / EIEGET it

3. Bankim Chandra Chatterjee / s g geon

4. Rabindranath Tagore / ST R

Correct Answer :-

. Bibhutibhushan Bandopadhyay / fq4fcryuor SeiuTeam™

13) CANCELLED

Who among the following freedom fighters was born in Bhavra village of Madhya Pradesh? /
fFrafifEa Tdzar Afal § | $I9 TAUSR & UG Tia § Ter g ur?

1. Sukhdev Thapar / ﬁ@%{a YR

2. Shivaram Rajguru / RraRm NS

3. Chandra Shekhar Azad / TERITER TG

4. Ram Prasad Bismil / I/ TG fafia

Correct Answer :-

« Chandra Shekhar Azad / TERIGR TSI

14) CANCELLED

Who has been appointed as the new Chief of ISRO? /
fFa 3R & AT sremed & = o fgad far mar g2
1. K. Sivan /. Rya™

2. Nambi Narayanan / i AR

3. Kiran Kumar / {01 PHR

4. Shailesh Nayak / QAR IS

Correct Answer :-
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« K. Sivan/®. R@M

15) CANCELLED

How many elected seats are there in Madhya Pradesh Vidhan Sabha? /
Aoy faur wut & fah fraffia W &2

1. 240

2.220

3.230

4.250

Correct Answer :-

« 230

16) Which of the following prizes is given by ‘KK Birla Foundation’ for commendable work in Hindi? /
Frafafed # @ 919 1 R ) A e o o3 & e & fTsa wesya gri far s g2
1. Birla Samman / WW

2. Kalidas Samman / TGy G

3. Vyas Samman / AT JHTq

4. Saraswati Samman / TR G

Correct Answer :-

« Vyas Samman / oI JHIT

17) For which of the following is the term ‘Sandalwood’ used with reference to cinema in India? /

YR R & weu # fRufafaa 7 3 f5a & forr Ssags' wsg sxaura farar s 32
1. Kannada/ ©9S
2. Tamil/ A

3. Telugu / aT:E[
4. Bengali / CHI]

Correct Answer :-

o Kannada/ ®dS

Topic:- General Hindi

1) 1% H gH HAT gtk &1 i g e A3 s e
1. 95 IRRIH HAT

2. 95 G BT
3. §gd T
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4, IR 9 BT

Correct Answer :-

. 9gd IR BT

2) YRR P B Gerar o1 3 e e d § Haare?
1. AT 19

2. U IR THR T

3. Ay ama

4 Py s g

Correct Answer :-

. fFfyd s

3) ‘ug & forg wdt it fa=dg & g
1. Ug+3+q

2. Q3

3. Ja+3id

4. 11q +31

Correct Answer :-
. T3
4) UFRET IS FU TR D2
1. yfAFar
2. 9 Fd
3. gMHgdr
4. g Far

Correct Answer :-

5) fqwrer & forg wa Wiy fa=d 1 gl
1. fadp+3ra

Z.WHTGT

3. fap+w T

4. e

Correct Answer :-

. ﬁ?ﬂl\_ﬂ


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247

6) fRT & forQ wEt wataart arat 2regt ot Ui &1 gwl
1. ¢, W, HIR
2. ¢, AR, R
3.0, dR, R
4. T8, dR, HIR

Correct Answer :-

7) 3EPR F e T wafgarh aral wreaf 1 ufed &1 gl
1. M, €1, g
2. M, 4, Id
3. 3, g4, g4
4. YA, Y, g0

Correct Answer :-

. M, <y, e

8) T § FE A A P AT IuEa B2
1. HHYRY T

2. TTHY TN

3. %8 A

4. T qHy

Correct Answer :-

9) Ry STHT A s g Fa A A A2
1. Ordt

2. g

3. f=m

4.9

Correct Answer :-

10) RIPTIF IS TGN F A TP s P AT P AR
1. 3

2. 3SR

3. 3SR

GET IT ON
Google Play
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4. 31T WG

Correct Answer :-

11) SR UG AN TP & A @ I Fadd s

1. 3Ugd
2. 3UgHT
3. ST

4. 3N

Correct Answer :-

12) IR FT 9 & A B 1 9 faara 2g 32
1. GHH
2. Faprof
3. T
4. FHIO]

Correct Answer :-

13) I F1 0 T A oI a1 9 faeiv 2 82
1. 34
2. 3T
3. 3T
4. Sl

Correct Answer :-

14) R I AT I FA A I P AT
1. faumT

2. 9

3. foumr

4. QIO

Correct Answer :-

. faum

GET IT ON
Google Play
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15) 99 I BT Qg didd Hg JHR|

T 8 W1 3ol 98, a1 9T & diR 11 - 8 59 & 3 &9 31 srdpr 82
1. 3F9Y 3ADR

2. ¥RUT 3[APR

3. TRIad DR

4. Tepllad SABR

Correct Answer :-

o RO PR

16) RF FETR <&, fie T8 Wt g &1

FAA AT AT A AT | - § 0 A DI 91 PR 2
1. 397 3APR

2. SUHAIGH] AR

3. Iobifad SADBR

4. SUHT 3[ABR

Correct Answer :-

. SUHIGHT 3ABR

17) R T&T 3Ty 3y, feie A9 &1 o B

gy T sy gE M & T, RA g R S ug B - AFw A wm R

1. %39

2. AGYA Y
3. Q™
4. Yfda g

Correct Answer :-

. Higa g

Topic:- General English

1) Select the suitable conjunction to complete the sentence:

he is a politician; he could not prevent the police from arresting his son.

1. As
2. Although
3. Unless

4. While

Correct Answer :-

GET IT ON
Google Play
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« Although

2) Choose the most suitable prefix for the given sentence:

I felt __secure talking to a stranger and so called the police.
1. dis-

2. un-

3. de-

4. in-

Correct Answer :-

3) Choose the most suitable determiner for the given sentence:

You can catch bus from this station to reach your destination as all buses from here pass through your
hometown.

1. either
2. every
3. any

4. each

Correct Answer :-

4) Choose appropriate articles for the given sentence:
John works as a waiter in restaurant and brings food to ___ customer’s table.

1. the, the
2. the, a
3.4a,an

4. a, the

Correct Answer :-

5) Spot the error in the given sentence:
The dog was running in circles trying to catch it tail.

1. Was running
2. In circles trying
3. The dog

4. To catch it tail

Correct Answer :-
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 To catch it tail

6) Choose the correct form of modal auxiliary verb for the given sentence:
People not pluck flowers from public gardens.

1. should

2. shall

3. would

4. can

Correct Answer :-

« should

7) Choose the appropriate preposition for the given sentence:.
That is Mr. Rao _____a walking stick.

1. with

2. by

3. along

4. on

Correct Answer :-

« with

8) Choose the option with the appropriate punctuation inserted in the given sentence.
Milton one of the greatest English poets was blind

1. Milton one of the greatest English poets was blind.

2. Milton one of the greatest English poets, was blind.

3. Milton, one of the greatest English poets, was blind.

4. Milton, one of the greatest English poets, was blind

Correct Answer :-
« Milton, one of the greatest English poets, was blind.

9) Choose appropriate tense for the given sentence:
I to take a vacation from office, tomorrow.

1. will be plan
2. planned
3. am planning

4. will plan

Correct Answer :-

e am planning
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10) Fill in the blank with a suitable collective noun from the given options:

This year’s volleyball has four players who are over six feet tall.

1. team

2. crowd

3. class

4. group

Correct Answer :-
e team

11) Fill in the blank with the present perfect tense of the verb from the given options:
My brother in that office for ten years.

1. work

2. working

3. has worked

4. will work

Correct Answer :-
« has worked

12) Choose the appropriate preposition for the given sentence.

I have not met him our last meeting in January.
1. since
2.in

3. over

4. from

Correct Answer :-
e since

13) Choose the appropriate verb to complete the given sentence.
Canyou_____ me the way to the bus stop, please?

1. shown

2. show

3. showed

4. showing

Correct Answer :-

« show


https://applink.adda247.com/d/XhqWf9lSap
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14) Choose the appropriate articles to complete the given sentence.

Neil Armstrong was ____first man to walkon ____ moon.
1. the, the

2. the, an

3.the, a

4.a,a

Correct Answer :-

« the, the

15) Choose the option with the appropriate punctuation inserted in the given sentence.
What a beautiful painting did you paint it

1. what a beautiful painting did you paint it.

2. what a beautiful painting-did you paint it!

3. What a beautiful painting: did you paint it?

4. What a beautiful painting! Did you paint it?

Correct Answer :-

« What a beautiful painting! Did you paint it?

16) Choose the option that best transforms the given sentence using a guestion tag:
The boy didn't know the visitor’s name,

1. wasn’t it?

2. didn’t he?

3. did he?

4. isn’t it?

Correct Answer :-

« did he?

17) Choose the correct form of verbs that is in agreement with the subject:

In acupuncture, no drug into the body, soit____ no adverse effects.
1. is injected, has

2. is injecting, gets

3. injects, have

4. inject, has

Correct Answer :-

« isinjected, has

Topic:- General Maths
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1) How many hundred thousand is equivalent to 4 crores? /
o oE, 4 TS P R FA T2

1.04

2. 400

3.40

4.4

Correct Answer :-

« 400

2) What is the H.C.F of the numbers 64 and 256? /
TEAT3HT 64 3T 256 BT AT FHITS HIT 82
1.8

2. 64
3. 256

4. 16

Correct Answer :-

3) The rectangular plot whose length and breadth are in the respective ratio 5:3 has a length of 65 m. Find the cost
of fencing the plot leaving a gap of 3m for gate at Rs. 90 per metre. /

ATATHR YT Frad} dars SR dsTs BT SuTd 5:3 8 3 TSB! a8 65 Hiex 81 e & forw 3 Hex
T8 BISHR 90 $UT Ul Wiex &1 &R I YEs T 918 T &1 ANTd 91 B |

1. Rs. 18720/ 18720 %44
2. Rs.17540/ 17540 %UUQ
3. Rs.18000 / 18000 ¥UU
4. Rs.18450/ 18450 %UU

Correct Answer :-

« Rs.18450 /18450 ¥UTQ

4) Half of the children enrolled in a day care are sleeping and three-fourth of the remaining children is playing
with blocks. The rest 9 children are doing some group activity. Find the number of children enrolled in the day
care? /

T S FW T Aifrd e a2 W TR § R a1 -1 o= qaled A WA v &1 Tl 9 g2 FO YU
RIS HR T8 €1 S FUR | AWifhd Sl B WS 1d PHO1e?

1.72
2.78

3. 66
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4. 60

Correct Answer :-
o 72
5) Simplify:

4 1 1 2
(ZEX 5=X 4—)+—

7 6/ 3
I -
4 1 1y 2
(Z—X L—x 4—)+—
5 7 6/ 3

1. 90

2.20

3. 60

4.30

Correct Answer :-

6) Ifx+v+z=4and x v+ vzt x z=10, then =*+v*+£&-3avz =/
gfgx+y+z=4 Tdxyt+tyz+txz=10 %:HHXB‘FYE+ZE—3X}72=

1.52

Correct Answer :-
e -56

7) If7%0 4710 4 730 4 10 L 710 4 710 4 710 =97 thennis:/

?J'%?1°+'?1”'+?1°+71u+71u+71°+?1”’=?“:E|E[n_§|
1.10
2.70
3.11

4.7

Correct Answer :-

« 11

11 3
8) Shriva completed reading P part of a book and Riva has read = part of it, while Priva has read

4
= of it. Who has read more? /

%Tﬁwgﬁa?a?rﬁ aqmq’c.rraﬂTﬁ?:lT#rg HTIT UaT STaidh 0T of S| E #1197 9T
forael g T gar
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1. Both Riya and Priya / R Td o g
2. Priya only / Fad o

3. Shriya only/ %ad 3T

4, Riya only / FHaq far

Correct Answer :-

 Priya only / Fad foan

9) Factorise:
25 —x? —y? —2xy /

AUTAEs FHITAT:

25 —x% —y? —2xy

1. (5+x—}?)(5—x+}?]

2_(5+x+}’)(5+x—}r]

3.(5+x+}’)(5—x+}?]

4. CTXING-—x—y)

Correct Answer :-

. (5+x+}’j(5—x—}?]

10) Give the cormect expression of 848 ./
8748 T Tal i Edsy|
169.6

1. 20

240
2 99

848

3. 100

248
4. 99

Correct Answer :-

240
99

11) If(x-3) and (x+3) are the factors of polvnomial q{x) =ax’+x2-4x+b, then the value of 'a” and ‘b’
are: /

afg TEUE (%) = axP+xP-4x+h & AUTAES (x-3) Ud (x+3) &, dd ‘2’ Td b° & A b:
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.-9

WO | b

4,
Correct Answer :-

4

- _9

9

12) If a, B, v are the zeroes of the polynomial x* — 3x? -10 xs + 24, then the sum of the reciprocal of the zeroes is: /

AR o, B,y TGUG x° - 3x2 -10x + 24 3 Y §, A Y & Szt 1 AT grem?

13) Therootsofa polynomial equation p(x)=x* =x*-x+1= Qare: [
WW;}(}:}=£ =-x+1= DEFH‘\F!ﬁH%:

1.0,1,-1

2.-1,1,1

3.1,-1,-1

4.1,1,1

Correct Answer :-

o -1, 1,1

14) Find the solution of %="¥TH_ !
= I G pe A |

1.3

2.-3

3.-2

4.2
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15) " ; :
If o, B are the zeroes of the polynomial 2x% + kx + 2, and o +f* + 2af = ? .thenk=__ ./

aﬁa,ﬁaqu’zxiﬂmuaxaﬂﬁaﬂ'{almiﬂaﬁ:24—1=a‘r1{= I

1.3
2.5
3.6

4.4

Correct Answer :-

16 (30
) The value of ks

,F 182/
<30

—— FHTHA &

VI35

17) In one hour of Zumba class, Rashi dances for 2/3 of an hour, Raji for 31 of an hour, Rishab for

4/5 of an hour and Rahul for 3/6 of an hour. Who dances for the longest time in one hour? /

U G ST ST FeIr #, M Uah 8 & 2/3 Teh S/ &l &, Tl Uk 1 3 %, Ruey v e
& 4/5 3R Tgel T € & 5/6 T 5T Xl o | Toh T H TGY & I e ST Al 57

1. Rishab / &Y
2. Raji / TSit

3. Rashi / 11T
4. Rahul / XIgd]

Correct Answer :-

. Rahul / g

Topic:- General Aptitude
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1) A card is drawn from a pack of 52 cards. The probability of getting a queen of diamond or a king of diamond is
/

52 UIY 9Tell OTR1 Y TS A TP U= FpTel Srat 81 $€ B N (@ i HTE STaHS) 91 §¢ $1 a1e=g (b
3T sTgHs) Fpa St ulRear . 81

S

Lh
"'lw

b
c\|’_'

|

L
[ 3]

4.

Correct Answer :-

2) If NOIDA is written as 39658, then how will IDAIN be written as? /
i< NOIDA T 39658 % &9 # for@m Srar g, a7 IDAIN &1 fre i forar?
1. 65368

2. 65863

3. 63596

4.36568

Correct Answer :-

» 65863

3) In an exam, the average was found to be 40 marks. After deducting computational errors, the marks of 100
candidates had to be changed from 60 to 30 each and the average came down to 35 marks. The total number of
candidate who took the exam was___./

TS T ), 40 3/ BT I UTaT TT AT | 0T Ffeat | wetdl & a1g, 100 wtgmdfal & o 60 A 30 A
oo A SR 3 35 3 a@ -9 3 T AT we 39 o wfendfal Ft pa e ot

1. 700
2. 600
3.500

4. 400

Correct Answer :-
« 600

4) ‘A’ sells an article which costs him Rs. 500 to B at a profit of 20%; ‘B’ sells it to ‘C’ making a profit of 10% on
the price he paid to ‘A’. How much does ‘C’ pay to ‘B’? /
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‘A’ TP G B! ‘B’ B 20% P ATH W JTaT ¢ FOrs! F1Hd 3 500 I ST | B’ T A’ FI A WA W
10% BT ATY HHTA §T ‘C’ B ATAT 8| C’, ‘B’ B fha=1 YITd= H2a1 82

1. Rs. 660 / 660 TG
2. Rs. 460 / 460 ST
3. Rs. 360 / 360 UL
4. Rs. 550/ 550 IT

Correct Answer :-

« Rs. 660/ 660 STY

5) How many 3’s are there in the given number series which are preceded by an odd digit but not followed by an
even digit?

3425315213673182785391345235435/

@ ¢ e g | fra 3 39 § e ued v faww wwe §, Afd S 18 Ue wW W 8 3
3425315213673182785391345235435

1. One /U

2. Two / &l

3. Four / R

4. Three / 190

Correct Answer :-

« Three / A9

6) The average weight of 40 balls is 4 gm. If the weight of the bag is included, then the average weight increases by
0.04 gm. What is the weight of the bag? /

40 TY T AT T 4 ITH B | TS 37 1 aw1 wfFfera &= forar 9, O 3Nd aw1 0.04 UTH I 9¢ ST 81
T BT I T 82

1.5.45gm/5.459MH
2.5.54 gm/5.54 U9
3.5.64 gm/ 5.64 UTH
4.5.46 gm / 5.46 919

Correct Answer :-

o 5.64 gm/5.64UH

7) The price of a bus is increased 40% before budget and in budget 20% is increased again. Find the total percent
increase in the price of the bus? /

TP S &1 HIAd H g9I¢ A T8d 40% D1 I 53 & IR e A I A 20% P IR g 1 sA P PUa A e
yferrd gfs sang?

1. 67%
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2. 66%
3. 69%
4. 68%

Correct Answer :-

* 68%

8) A man has 32,000 rupees to lend on loan. He lent some of his capital to Rupesh at an interest rate of 20% per
annum and the rest to Govind at an interest rate of 12% per annum. At the end of 1 year he got 17% of his capital
as interest. How much did he lend to Rupesh? /

BT IR IUR ¢4 & T, TH 3metft & uTd 32,000 FUT &1 3T U B Yoil SURT B AT 20% B TS
X TR 3R AW Golt ATAT 12% B o1 gx W Midg 1 2 11 adf F oia A, I o=t 4ol &1 17% o1 &
9 # e 39 $U &Y famn Sur fear?

1. Rs. 18000 / 18000 ST
2. Rs. 20000 / 20000 3T
3. Rs. 22000 / 22000 3T
4. Rs. 17000 / 17000 3T

Correct Answer :-

« Rs. 20000 / 20000 STY

9) At what speed (km/hr) does a man walk who passes through a street of 1800 meters long in 15 minutes? /
T 3MeH! frd ara ((+i/aen @ aaan 8 st 15 fiFe & 1800 Hie? Tt HS& & IR HR Ad1 8?2

1. 5.2 km/hr / 5.2 fopdi/der

2.7.2 km/hr / 7.2 fHi/eer

3.8.2 km/hr / 8.2 fHi/der

4.4.2 km/hr / 4.2 foHit/eer

Correct Answer :-
. 7.2 km/hr / 7.2 fHEeT

10) Ifin a certain code, LUTE is written as MUTE and FATE is written as GATE, then how will BLUE be written
in that code? /

w# fAf%ra we #, LUTE #1 MUTE % €9 ® for@T STt § ik FATE T GATE % 9 § fo@T 11 8, ar sq fle |
BLUE &7 &% for@w?

1. SLUE
2. GLUE
3. FLUE

4. CLUE

Correct Answer :-
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11) Compare the respective ratio of two trains, one travelling at 54 km/hr and the other at 10 m/sec? /

31 3 & Taftra srguTa Y ga &Y, R A v s4 frfeier iR gt 10 MerAds R T@ w6 82
1.3:4

2.4:3

3.3:2

4.2:3

Correct Answer :-

12) In how many ways can the letters of the word ‘CAPITAL’ be arranged so that the vowels come together
always? /

U ‘CAPITAL & &R} &1 fPaq aiie! & afRyd frar oIt Gar & a1fer TR gH U 91y 3m?
1. 560
2. 460
3. 260
4. 360

Correct Answer :-

« 360

13) Present ages of Shambhu and Sumaswar are in the ratio of 5:4 respectively. Three years hence, the ratio of their
ages will become 11:9 respectively. What is Sumaswar’s present age? /

Y 3R GUREGR B TATT ST HHRT: 5:4 B SFUTd A 81 & a0l & q1G, STD! 3T BT SJUTd PR 11:9 T
ST | GARGR P adHT 3T T 8?2

1. 27 years / 27E|'Gf
2. 24 years /24 ¥
3.35years/ 35 a'ﬁf
4. 40 years/405|'5f

Correct Answer :-

o 24 vyears/ 24 a'Gf

14) The total of the ages of Niraj, Umesh and Dhiraj is 93 years. Ten years ago, the ratio of their ages was 2:3:4
respectively. What is the present age of Dhiraj? /

ﬁw,a?sﬁuﬂmaﬂwang%aﬁ%lwaﬁqa‘,aﬂﬁmmmm; 2:3:4 4TI kST B} afa=
Y FATR?

1.32 years/ 32 @8
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2. 34 years / 34 Y
3. 24 years / 24T
4. 38 years / 38 Y

Correct Answer :-

» 38years/38 ¥

15 50!
Evaluate: —
a8

. 50!

Hedldhel o —

= 4g!
1. 2430
2. 2440
3.2420
4. 2450

Correct Answer :-

e 2450

Topic:- General Computer

1) In MS Word, landscape is said to be a ./
THTH 78 §, AU Bl ST S 2|

1. Margin aligns / T 'GIER]

2. Page orientation / bE| Ghﬁ'Qé‘\’FT

3. Print preview / flic ﬁ‘oll

4, Size aligns / HIgol cATgT

Correct Answer :-

« Page orientation / Ul Ghﬁm:{

2) In MS Excel 2010, what operation does F4 performs? /
THEY T 2010 ¥, F4 T ST BT 82

1. Edit/ Uf$e

2. Paste / URC

3. Redo /ﬂ?ﬁ'
4. Copy/av—\ll'd)f

Correct Answer :-

. Redo/ﬁ?ﬁ'
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3) In MS Excel 2010, maximize button is located at the

THEY THAd 2010 H, ARNAES 9¢ R fRE gl
1. lower right-hand corner / EiE| E{IQ-GhT CAC] (Fﬁ\’:ﬂ TEE—%%' m

2. lower left-hand corner / =g STU-3R B (?‘ﬁ&l'\y w5 S Eh‘T:h‘)

3. upper right-hand corner / \HUR QM-3R B (3R TIE_C'-%._&' T:Fﬁ?)

4. upper left-hand corner / $HUX M-3R B (3R QS EF\I/:YT)

Correct Answer :-

« upper right-hand corner / $HUR QM-3R B (TR I E{S PIR)

GET IT ON
Google Play

4) In MS Excel 2007, combining, condensing and summarising data from multiple sheets into one sheet is known

as: /

Qﬂm%qa@?rzomﬁ',naﬂwqﬁﬁﬁwuﬁzﬁ%aﬁwﬁa,#ﬁlﬁreﬁ?wmmﬁaﬁwmﬁm
CIGIEE

1. Validating data / afersfn Ser

2. Combining data / IR Sl

3. Consolidating data / Pt Sl
4. Collapsing data / PITRT ST

Correct Answer :-

« Consolidating data / =3I dSfeT Sal

5) In MS Excel 2010, the shortcut key used to hide the selected row is: /

THTY TR 2010 H, T tfdd (Aaaes ) I 8158 HI1 & (o€ TN B W11 aTell ATdPhe Bl 3:

1. Ctrl+9

2. Ctrl+6

3. Ctrl+8

4, Ctrl+7

Correct Answer :-

e Ctrl+9

6) In MS Excel 2010, the format painter button can be found in: /
THTH T 2010 H, BIAC Gex 92 I 31 § U 51 9T 6:
1. Insert tab /37\‘4% %Tq’

2. Formula tab / tl'fﬁi?ﬂ |

3. Data tab / ST &

4. Home tab /?ﬂ?ﬁ‘d

Correct Answer :-



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

« Home tab /?ﬁﬂ%‘d

7) In MS Excel 2010, the Insert tab contains a group with different types of i

THUY TRIE 2010 §, 308 Sq A AR 1oR & Tfgd v T fAfRa gar gl
1. Styles / ¥IgeY
2. Fonts/tﬁ?ﬂ

3. llustrations / 3?1@}217'[
4. Colors / HE

Correct Answer :-

o Illustrations / Eﬁéﬁlq

8) In MS Word 2010, the shortcut key used for help is: /

THTH T8 2010 H, 3¢9 & foe A wiidee 31 &1 s3awTa foran wirar 8:
1. F1

2.F4

3.F2

4.F3

Correct Answer :-

- Fl

9) In MS Word 2007, where can you find the bullets and numbering icons? /
THTY T3 2007 §, 3MUP! gACH R TR 3M5H Hei fra 9oa 82

1. Insert tab /QT\‘TCF |

2. Home tab /Eﬁ'q%a

3. Design tab / KES ERl |
4. View tab / 3 2§

Correct Answer :-

« Home tab /E?I'q%_d

10) In MS Word 2007, which of the following ways is used to view a document?

THTH 98 2007 §, TP STagie & 3uq & fore fFafefaa # @ fra afie! &1 suahr fear srar g2
1. Full Screen Reading only / &ad d b1 AfST

2. All of the above / JURIa Gt

3. Print Layout only / $dd [J¢ A3T3C

4. Web Layout only / $ad 99 Q1313¢

Correct Answer :-
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« All of the above / SURIGT T

11) What does the Disk drive of a computer do? /

TP YR B {33 grga | B 22

1. Both options A and B /fapeg A 3R B gl

2. Write a program / U o &1 foraddt %

3. Load a program from the disk into the memory only / FHad Udh U &1 f&% 9 TaR! & drs &Rt %I
4. Read the disk only / Had fg%p B g Bt %I

Correct Answer :-

. BothoptionsAandB/ﬁTc‘qAGﬁTB AL

12) Which Kkey is used to delete a character to its left side of the cursor in MS Word 2010? /

THTY T3 2010 §, U & IT3 d¥P TP Haex @ (efie v & e fory Foft (@ &1 3waiT far smar 82
1. End button / T8 dcd

2. Backspace button / 95T g

3. Delete button / f&dfic s

4. Esc button / Esc dc

Correct Answer :-

 Backspace button / IHWY e

13) Which of the following is the file extension for an Excel 2010 workbook file? /
TS TAd 2010 gD WIsd & fog fAufirfad & Q &9 91 wigd Teuezq 32
1. xltx

2. xIsx

3. xltm

4. xlsm

Correct Answer :-

o xIsx

14) Which of the following commands will turn the cursor into a pencil in the MS Word 2007? /
THEN T3 2007 H, Fafaf@a § & o149 @ oais F3R o te iR | gga

1. Create Pencil / W ﬂf%ra

2. Draw Pencil / gI BIEs]

3. Draw Table / ST <qd

4. Cursor Pencil / H&R ORI

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247 Eooale Play

« Draw Table / Sl eqd

15) Which one of the following is an operating system? /
frafafaa 9 @ @19 w1 @ sTRfén Rrea g2

1. Winrar / fdRR

2. MS-Powerpoint / THUY-UidR@rse

3. Unix / q;ﬁaﬂ
4. MS-Access / THTY-TaT

Correct Answer :-

« Unix / g

16) is considered to be the ‘Father of Modern Digital Computer’. /
31 3y f$frea vwger o1 99 aFd €1

1. George Stibitz / Gﬁlﬁfm

2. Leibniz / A&EH

3. Charles Babbage / %narfaﬁvrr

4. Pascal / UReh

Correct Answer :-

« Charles Babbage / EIREIES]

17) In MS Word, which of the following is not a font style? /
T 78 #, FAfafed § @ o1 91 bie wgd T8 82
1. Italic / ST

2. Regular/i?!aq

3. Outline / 313l
4. Bold/ S¢S

Correct Answer :-

« Outline / T3 AT


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

